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&5 X 4 Er%r'n? 'Fﬁﬁ“ﬁh‘(i)@ﬁ%’é jj(:iatr:f)é X 4 'Fﬁn“ﬁﬁg\ézg;kzlz ‘(.%,r'g jj(ﬁ?tr:f)é X 4 ﬁf J:ﬁn“ﬁb\(if)tt‘.%‘ jj(ﬁ?tr:f)é X 4 J:ﬁﬁ;ﬁ\(i)d)tt?%‘ _(r%:n? jj(:;zcnié
1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.79 59.66 | FhUS | 000 ~ 479 | 1.83 9.81 Thlst 1.00 | 5.00 ~ b5.14 59.66 | ThLS | 5,00 ~ 514 | 1.83 9.81
2 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 5.49 68.54 | #nS | 000 ~ 549 | 1.75 9.38 Thlst 1.00 | 5.00 ~ 6.02 68.54 | Ths | 5,00 ~ 6.02|1.756 9.38
3 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 5.38 67.10 | =h4 | 000 ~ 0.00| 1.69 9.07 Thlst 1.00 | 5.00 ~ 5.87 67.10 | =h45 | 5,00 ~ 587 | 1.69 9.07
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.04 75.77 | =N | 000 ~ 6.04 | 1.84 9.83 Thlst 1.00 | 5.00 ~ 7.04 75.77 | #hLS | 5,00 ~ 7.04 | 1.84 9.83
5 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.37 80.16 | =nkst [ 0.00 ~ 6.37| 1.90 10.14 st 1.00 | 5.00 ~ 7.85 80.16 | =hbLs | 5,00 ~ 7.85| 1.90 10.14
6 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZS - ~ — — —
s 1.00 | 0.00 ~ 5.03 62.70 | FnRSL | 0.00 ~ 5.03| 2.20 11.80 Thlst 1.00 | 5.00 ~ 7.74 62.70 | ThS | 5,00 ~ 7.74 ] 2.20 11.80
” 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 2.53 33.39 | =nS | 000 ~ 253 | 2.46 13.15 Fhst 1.00 | 5.00 ~ 56.10 33.39 | #hst | 5,00 ~ 5.10| 2.46 13.15
P 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.20 77.89 | =L | 0.00 ~ 0.00| 1.569 8.62 Fhst 1.00 | 5.00 ~ 7.73 77.89 | Fhs | 500 ~ 7.73| 1.59 8.62
9 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 3.18 40.63 | TN 000 ~ 3.18| 2.48 13.29 Fhst 1.00 | 5.00 ~ 6.74 40.63 | Thst | 5,00 ~ 6.74 | 2.48 13.29
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 000 ~ 7.54 96.46 | Fhst | 0.00 ~ 7.54 | 2.50 13.37 Fhst 1.00 | 5.00 ~ 11.54 96.46 | Fhist | 5,00 ~ 11.54| 2.50 13.37
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.71 84.79 | =N 000 ~ 671|272 14.57 Fhst 1.00 | 5.00 ~ 11.95 84.79 | =L | 5,00 ~ 11.95| 2.72 14.57
19 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhnLst 1.00 | 0.00 ~ 2.00 84.79 | =N 000 ~ 200|272 14.57 Fhst 1.00 | 5.00 ~ 11.95 84.79 | =L | 5,00 ~ 11.95| 2.72 14.57
13 100kN/m#%#825| 1.00 | 0.00 ~ 2.39 137.37 |3m&#BRB| — ~ — — — | 100kN/m%#%25 | 1.00 | 11.26 ~ 21.22| 137.37 |3mZE#ZS - ~ — — —
Thilst 1.00 | 239 ~ 3.20 100.00 | #hust | 000 ~ 320 2.96 15.83 TnLlst 1.00 | 5,00 ~ 1126 100.00 | EnLS | 5,00 ~ 21.22| 2.96 15.83
14 100kN/m#%#825| 1.00 | 0.00 ~ 1.48 133.53 |3mZi#Bx 5| 000 ~ 092 3.65 19.55 | 100kN/m%i#825 | 1.00 | 1384 ~ 2580 | 133.53 |3mE#BZB| 2000 ~ 2580 | 3.65 19.55
Thilst 1.00 | 1.48 ~ 3.82 100.00 | =hust | 092 ~ 382 3.00 16.05 ZnList 1.00 | 5.00 ~ 1384 100.00 | =hist | 5.00 ~ 20.00] 3.00 16.05
15 100kN/m#%#825| 1.00 | 0.00 ~ 1.42 134.86 |3mZi#Bz 5| 000 ~ 095 3.68 19.70 | 100kN/m%#825 | 1.00 | 1417 ~ 2756 | 134.86 |3mE#BZB| 20.00 ~ 27.56 | 3.68 19.70
ThLst 1.00 | 1.42 ~ 4.08 100.00 | #hist | 095 ~ 4.08 | 3.00 16.05 FhLs 1.00 | 5.00 ~ 14.17 100.00 | =5t | 5.00 ~ 20.00 | 3.00 16.05
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&5 X 4 z,né; 'Fimh(i)@ﬂﬁﬁﬁ jj(:iatr:f)é X 4 'Flnﬁéé%zg;kiF .E,n? jj(ﬁ?f)é X 4 .(Er,na‘)r J:m;b(z)wtt.a jj(ﬁ?f)é X 4 J:m;ﬁ(;d)ttra, rzjn? jj(:;zcnié
16 100kN/mM%#8x25 | 1.00 | 0.00 ~ 1.42 141.63 |3mZ#Z5| 000 ~ 0.09| 3.06 16.38 | 100kN/mi%i#825 | 1.00 | 11.95 ~ 2490 | 141.63 |3mZE{BZ 5| 2000 ~ 24.90| 3.06 16.38
s 1.00 | 1.42 ~ 265 100.00 | st | 0.09 ~ 265 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.95 100.00 | =St | 5.00 ~ 20.00 | 3.00 16.05
17 100kN/mM%E#8x5 | 1.00 | 0.00 ~ 1.58 152.28 |3m%#Z5| 000 ~ 085 3.563 18.89 | 100kN/mi£i#825 | 1.00 | 11.70 ~ 3127 | 152.28 |3mZE#BZ 5| 2000 ~ 3127 3.53 18.89
s 1.00 | 1.68 ~ 4.02 100.00 | =St | 0.85 ~ 4.02 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.70 100.00 | =nLst | 5.00 ~ 20.00 | 3.00 16.05
18 100kN/mM%#8x25 | 1.00 | 0.00 ~ 1.53 150.20 |3m#%#Z5| 000 ~ 091 ] 3.59 19.19 | 100kN/m%#B%2% | 1.00 | 1207 ~ 31.04 150.20 |3mZE#BZ 5| 20.00 ~ 31.04| 3.69 19.19
s 1.00 | 1.68 ~ 295 100.00 | =St | 091 ~ 295 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 1207 100.00 | =nLst | 5.00 ~ 20.00 | 3.00 16.05
19 100kN/m##8x5 | 1.00 | 0.00 ~ 1.84 149.30 |3m#Z#B%5| 000 ~ 094 | 3.61 19.33 | 100kN/mi%#825 | 1.00 | 1227 ~ 31.13| 149.30 |3mZE#BZ 5| 2000 ~ 31.13| 3.61 19.33
s 1.00 | 1.84 ~ 4.08 100.00 | LSt | 0.94 ~ 4.08 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 1227 100.00 | =nLst | 5.00 ~ 20.00 | 3.00 16.05
20 100kN/mM%#8x25 | 1.00 | 0.00 ~ 2.00 165.26 |3m%i#BZ 5| 000 ~ 290 | 4.42 23.66 | 100kN/m%i#BA% | 1.00 | 11.29 ~ 5250 | 165.26 |3mERBZS| 2500 ~ 5250 | 4.42 23.66
s 1.00 | 200 ~ 6.40 100.00 | LSt | 290 ~ 6.40 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 11.29 100.00 | =nLst | 5.00 ~ 2500 3.00 16.05
21 100kN/m%#8%% | 1.00 | 0.00 ~ 347 | 162.39 |3m%E{BZ%| 0.00 ~ 283 | 4.58 24.51 | 100kN/m#%#Bz25 | 1.00 | 1203 ~ 5127 162.39 |3mZE#BZB| 2000 ~ 51.27| 4.58 24.51
s 1.00 | 347 ~ 7.64 100.00 | =St | 283 ~ 7.54 | 3.00 16.05 Thlst 1.00 | 5.00 ~ 1203 100.00 | =nLst | 5.00 ~ 20.00 | 3.00 16.05
99 100kN/m%#82% | 1.00 | 0.00 ~ 1.71 163.87 |3mZi#Bx2 5| 0.00 ~ 383 | 4.50 24.10 | 100kN/m%#825 | 1.00 | 11.64 ~ 51.03| 163.87 |3mEBZB| 20.00 ~ 51.03| 4.50 24.10
Thilst 1.00 | 1.71 ~ 5.65 100.00 | #nldst | 383 ~ 5.65| 3.00 16.05 Fhst 1.00 | 5.00 ~ 1164 100.00 | #nist | 5.00 ~ 2000 | 3.00 16.05
93 100kN/m#%#8z5| 1.00 | 0.00 ~ 2.73 165.42 |3mZi#Bx 5| 000 ~ 247 | 4.22 22.61 | 100kN/m%#EZ % | 1.00 | 10.71 ~ 54.91 165.42 |3mE#BZB| 25.00 ~ 54.91| 4.22 22.61
Thilst 1.00 | 273 ~ 3.01 100.00 | =hist | 247 ~ 3.01 ] 3.00 16.05 ZnLst 1.00 | 5.00 ~ 1071 100.00 | =hist | 5.00 ~ 2500 3.00 16.05
24 100kN/m%#825 | 1.00 | 0.00 ~ 0.54 108.02 |3mZi#BRB| — ~ — — — | 100kN/m%#Bz25| 1.00 | 11.88 ~ 1355| 108.02 |3mE#Bz5 - ~ — — —
FhnLst 1.00 | 0.64 ~ 1.59 100.00 | #hst | 0.00 ~ 1.59 | 2.46 13.18 Fhst 1.00 | 5.00 ~ 1188 100.00 | ZnLst | 5.00 ~ 1355 2.46 13.18
95 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — - ~ — — |3mZEHEAS -~ — — —
FhnLst 1.00 | 0.00 ~ 2.18 89.13 | =4t | 0.00 ~ 0.00| 1.67 8.91 Fhst 1.00 | 5.00 ~ 9.00 89.13 | #hst | 5,00 ~ 9.00 | 1.67 8.91
2% 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — - ~ — — |3mEHEAS -~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
97 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — - ~ — — |3mEHEAS -~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst - ~ — — —
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ 3mEHEAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ 3mEHEAD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ 3mEHEAD ~
Ths ~ st ~ st ~ Ths ~
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